Exemplo de Polimorfismo

1l package polimorfismoz;
B

3public abstract clas=s Pessoa
4 private String noms;
privacte int idade;

pulxlic Pessoa(String nome, int idade)
this.nomse = nome;

this.idade = idade:
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12 rublic int getldade() {
13 return idade:

le public void setldade (int idade)
17 thisz.idade = idade;

20 public String getMome () |
21 return nome;

24 public vold setNome (String nome) |
25 this.nome = nome;

27|}

{



1 package polimorfismoc?;
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class Punciomario extends Pessoa |

public Punciomario (String nome, int idades, doubkle salario)

super (nocme, idads):
this.zalario = salariao:

public double getSalario () |

return salario:r

pukblic wold setSalario (double salario) |

this.salario = salario;

1 package polimorfismc;

2

3 public
private int tipoCliesnte:;
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class Cliente =xtends Pessoa

public Cliente (String nome, int idade, int tipocCliente)

super (noms, idade):
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]

this.tipoClisnte = tipoClisnte;

public int getTipoCliente ()

-

return tipoClisnte;

public void =setTipoCliente (int tipoClisnte) |

this.tipoClisnte = tipoCliente;



lpackage polimorfismoZ;

2

3|import java.util.ArraylList;
4limport java.util.Iterator;

L

épublic class Main {

7

B pubrlic static woid maim(String[] args) |

o ArrayList<Pessoa>» pessoas = new Arravlist<Pessoax():
10

11 Funcionaric f = new Funcionario("Maria"™, 30, 1500);
12 Cliente ¢ = new Cliente("Jose", 25, 1)

13

14 pesscas.add(f) ;

15 pesscas.addic) ;

16 pessoas.add (new Funcicnario ("Carla"™, 18, 700));

17 pessoas.add(new Funcicnario ("Frederico", 28, 3300)):
18 pessoas.add(new Cliente ("Francisco", 25, 2)):

19

20 Iterator i = pessoas.iterator();

21 while(i.hasHext ()] {

22 Pessoa p = (Pessoa) i.nexc():

23 System.cut.print ("Home: " + p.getNome()):

24

25 if (p instanceof Cliente) {

26 Cliente cl = (Cliente) p:

27 System.out.println("\nCli=nte: " + cl.getTipoCliente() )
28 }

259 elas{

30 Funcionario fc = (Funcionario) p:

31 System.out.println("\nFuncionarioc: " + fc.getSalariol()):
32 }

33 }

a4 }

35|}

: Dutput - Polimorfismo2 (run)
Funcionidrio: 1500.0
Home: José

Cliente: 1

Nome: Carla
Funcicnaric: 700.0
Nome: Frederico
Funcionario: 3500.0

Nome: Francisco
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Cliente: 2
BOILD SUCCESSFUL (total time: 0 seconds)
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